

Apartment in Mellieha



Mellieha, North



€508,000

Reference No: 240151078-351

 Total Rooms: **8**

 Floor Area (m²): **180**

 Bathrooms: **3**

 Bedrooms: **3**

Apartment - For Sale - Mellieha

MELLIEHA - Selection of sea view maisonettes, apartments and penthouses being sold highly finished. Different layouts available including one, two and three bedroom units. Freehold. Walking distance to the seafront. Contact your agent for more info and an immediate viewing.

Features

- ✓ Ceramic Floor
- ✓ En Suite
- ✓ PVC Piping
- ✓ Double Glazed
- ✓ Balcony
- ✓ Video Hall Porter
- ✓ Gypsum Plastering
- ✓ Passenger Lift
- ✓ Terrace

Rooms

- ✓ Double Bedroom : 4.36 x 3.56 m (15.52 m²)
- ✓ Double Bedroom : 4.27 x 3.37 m (14.39 m²)
- ✓ Double Bedroom : 4.27 x 3.4 m (14.52 m²)
- ✓ Kitchen/Living/Dining : 6.65 x 3.97 m (26.4 m²)
- ✓ Bathroom : 2.98 x 2.07 m (6.17 m²)
- ✓ Bathroom Ensuite : 2.47 x 1.35 m (3.33 m²)
- ✓ Bathroom Ensuite : 2.98 x 1.09 m (3.25 m²)
- ✓ Box Room : 1.35 x 1.72 m (2.32 m²)
- ✓ Hallway : 10.44 x 1.19 m (12.42 m²)
- ✓ Open Space : 4.2 x 2.25 m (9.45 m²)
- ✓ Open Space : 5.2 x 8.5 m (44.2 m²)

Gallery







Thomas Meachen

RE/MAX Edge - Attard

M: 99832214

E: thomas@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta